TEST 1 — Math 264 — Fall 2010

September 29, 2010

1. (a) What operation can be used to find the angle between two vectors? u FH
(b) Find the angle between = (1,1,0) and @ = (0,1, =1). Ese\—%
(c) Find the angle between 7 = (3,3,0) and w = (0,10, —10) (think about this for a second).%?‘\”\
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2. Let ¥=(1,1,1) and w = (1,0,0)
(a) Find the vector projection of 7 onto . b?\‘g
(b) Is proj;(?) a unit vector? ﬁ?&
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4. Find the gl between the planes in R® defined by 2 +y +2r =0 and 2y — 22 — 1 = 0.
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5. Find the values of o such that the vectors (1 + @,2,a% — 1) and (o — 1,@, —1) are orthogonal. 6 ?*-%
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6. Find a parametrization of the line which is the intersection of the planes z +y+ 2+ 1 = 0 and
T=z+2.
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7. Consider the curve parametri dby 7(t) = (¢,t2,2) where ¢t € (—00,00). Find a parametrizatio
of the line tangent to the ¢ at the point (2,4,2).
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8. Find the lngth of the curve parametrized by ¥(t) = (t3/3,t%//2,t) where t € [0, 1].

Hint: (¢* +2t +1) = ( +1)
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9. Let 7(t) = (a(t), b(t)) and B(¢) = (A(t), B(t)). Show
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10. Find a parametrization of the line passing through the points (1,2, 3) and (-3, -2, ~1).
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